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AZHERHEE: ST i=10% M B M A X REER

E4 1 2 3 4 5 6 7 8 9 10

(F/P,i,n) 1.100 1.210 1.331 1.464 1.611 1.772 1.949 2.144 2.358 2.594

(P/Ri,n) 0.909 0.826 0.751 0.683 0.621 0.564 0.513 0.467 0.424 0.386

(F/IAi,N) 1.000 2.100 3.310 4.641 6.105 7.716 9.487 11.436 | 13.579 | 15.937

(P/Ai,n) | 0.909 1.736 2.487 3.170 3.791 4.355 4.868 5.335 5.759 6.144

(A/Ri,n) 1.000 0.4762 | 0.3021 | 0.2155 | 0.1638 | 0.1296 | 0.1054 | 0.0874 | 0.0736 | 0.0627

(A/P,i,n) 1.100 0.5762 | 0.4021 | 0.3155 | 0.2638 | 0.2296 | 0.2054 | 0.1874 | 0.1736 | 0.1627

P=AP/A i, n)=A(1+1) = 1]/[(1+1)™]




